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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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15:30 314 160.0 5| 1RiRe15:30 B35 (REAEES)
16:10 314 160.0 =l RRiB016:10 B3 (REAKEE)
it 4396.0 (14)%) 2240.0 EGHKEC: 2170.0, PH: 6.5

EREFIRRA (0.94) , FEE

MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

H#ERECE (2430. 0 vs 3545.0) s



P6AW_W, Day=44 (2025-05-19)

150 1y, VO, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 4420
L 4000
100 -
2388 o100 2400
674 2000
50 41300
55 700
33 Warning: lcol [FVI',| "FVO’'] missing
0 -0
. ( v vi _ _ —_— MW 930
T 300 FRV maxM
+
s
2 200 - - 28 =
N N R ER SRR e N _N_ NN e e L T —— =
£
Z oo WiLhATIIRBEEETN Y 26
(o'
[
1.0 24
U
0.8
0.6
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
2400 4 TargetEC=2600. 0, TargetSetEC=2170.0 —¢  ECB*10%
A ® ECC
2200 -
2000 -
7.04 TargetPH=6.5, TargetSetPH=6.5 —>%—  PHBx10% [
® PHC
6.5 p—— e o S VT VI VA Sy S S S —
o o o
° °
6.0 -
i : 4
_ 4004 ByInit @46 02:11: ET=1912 Fg=2400.0 Ro=427.0 ! 3000
S 1
= 300 - I
o 1
< ! L 2000
< 200 !
= : 1000
— 100 - 1
] 1
o ——o—@
0 Py al PN P 0
400 0 1 2 3 ] 5 6 7 8 9 [ 10 11 [ 1213 ] 14 [ 15 ] 16 | 17 [ 18 | 19 | 20 | 21 | 22 | 23
o Z=|Z=|%Z=| BB | BB | BH | PR | BE | & | HE 5 5 5 | BB | BB | BB | B 5 5 5 5 5 5 5 | 3000
c 1
%_300— ByEt-@D44 1904 ET=2055 Fg=2400.0 Ro=nan ® ® ® ®
N & —o —o—o - 2000
< 200
= 1000
— 100 -
Ll
o —-& o & o
0 A D A A V= 0
400 0 1 2 3 ] 5 6 7 8 9 [ 10 11 [ 1213 ] 14 15 ] 16 | 17 [ 18 | 19 | 20 | 21 | 22 | 23
o~ 2n|2x %[ | | BB | B[ 27|22z BB | | K | i [BE | | & | B [BE | BF | B | 85 | BE 3000
S [
(“ - . — — —
<, 300 ByWoFv QD46 02:1+1:—ET=1674 Fg=2240.-0 Ro=456-0 ® @ ® ®
N 1 & e & © - 2000
< 200 :
= ! L 1000
— 100 - 1
] 1
o - o —e —e
1.0 Py al PN P PN 0
0 | 1 2 | 3] 4| 5] 61 7] 81 9 [10] 11121314 ] 15 16 [ 17 | 18 [ 19 ] 20 [ 21 [ 22 | 23
0slZ2z|2=|2=| B [ [ [B W (2z(2=|2=| K [ [ B [K [ B | B[ B[ [H [F [KE[K | B
0.6
0.4
0.2
0.0
1500 A \ —_ 4
[ ] | _obs
1000 , —@— PPFD obs
OW e v f

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



T T
800 1000

m=625,m FV0=0

T
600

27.

27.

27.

26.

26.

26.

26.

—— MW

650 655
m=770,n FV0=0

27.

27.

27.

27.

26.

26.

7%5 7é0
m=910,n FV0=0

28. 4

28. 2

28.0

27.

27.

-— MW

>
=
w

915 920

25.

25.

25.

25.

25.

24.

24

27.

27.

27.

26.

26.

26.

26.

27.

27.

27.

27.

27.

26.

28.

28.

28.

27.

27.

27.

m=515, FV0=0

M_W

5é0 5&5
m=670,n FV0=0

T T
670 675 680

m=805,m FV0=0

—— MW

it

8%0 8%5
m=950,n FV0=0

805

-o— MW

950 955 960

26.

26.

26.

26.

26.

25.

25.

27.

27.

27.

27.

27.

28.

27.

27.

27.

27.

27.

28.

28.

28.

27.

27.

27.

m=550, FV0=0

M_W

T T
550 555 560

m=695,m FV0=0

—— MW

i

760 765
m=845,n FV0=0

8%0 865
m=990,n FV0=0

845

-— MW

990 995 1000

27.

21.

27.

26.

26.

28.

21.

27.

21.

27.

21.

28.

28.

28.

21.

27.

21.

28.

28.

28.

28.

m=580, FV0=0
—— MW
4 .
2 .
0 .
8 .
6 .
55'30 5é5 5530
m=725,m FV0=0
07 —o— MW
8 .
6 .
4 .
2 .
0 .
725 730 735
m=880,m FV0=0
49 —— MW
2 .
0 .
8 .
6 .
4 .
880 885 890
m=1020m FVO0=0
61 —— MW
4 .
2 .
0 .
1 0'20 1 0'25 1 0'30



hour

7:55 -

8:05

8:50

10:35

11:55

13:10

14:20

100

80

- 60

- 40

20



P6AW

BjiE) | AT (7)) | EHE (BAH/K) | XK R

08:05 320 160.0 |Z = B21%@08:05 Bzh (kBIEREE)
08:50 320 160.0 |Z = Bi%@08:50 B3h (FKAFEREE)
10:35 320 160.0 |Z = B2i%@10:35 B3h (kAHEREE)
11:55 320 160.0 5 Bi%@11:55 Bzh (RkAEREE)
13:10 320 160.0 |Z = Big@13:10 Bz (REERR)
14:20 320 160.0 &= Big@14:20 B3h (KRBERKSE)
Bit]1920.0 (6%) 960. 0 ZHKEC: 2122. 2000000000003, PH: 6.5

AREHTERRA (0.94) , BT

TeREHLERE STHRERT (296.0 :

BRIASERRIERE163. 0 ml.

# 8] /KECZE (2500. 0 vs 3625.0) RS

163.0), FAIREKRREERE




FRV (ml plant-1)

2600 1
2400 -
2200 -

2000

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P6AW_W, Day=43 (2025-05-18)

150 11, VM8V, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET

100 1400
203

50 -

27 Warning: lcol [FVI',| "FVO’'] missing

1300 304
76

33

( o )
FRV

300 -

200 -

100 A

— MW

maxM

1.0
0.8 -
0.6
0.4 -

0.2~

Warning: lcol ["WC1',  "WC2'] missing

®
TargetEC=2600. 0, TargetSetEC=2122. 200000
0000003

ECB*10%
ECC

7.0+

T e -

6.0 -

PHB*10%
PHC

400 +
D46 02:11: ET=2128 Fg=2720.0 Ro=564.0

R

Bylnit
300 A

200

100 A

400 T 1 2 3 5 6 10 | 11 13

®¢
JOR ()
@
o e

- 2000

- 1000

-0
4 30

- 4000
7

- 3000

- 2000

- 1000

17

16 18 19 20 21 22 23

E3
B

ES
5]

E3
B

S EFS N BB | 5 | B

ES
5]

=
B

E3
B

E3
B

ES
5]

A | BA [ BA

300 -
ByEt @D43 18:56: ET=1314 Fg=1280.0 Ro=nan

200

100 A

= 8000
L 3000
- 2000

- 1000

400

2
0 1 2 3 5 7 8 9 10 11 12 13 14

15 16 17 18 19 20 21 22 23

ES
5]

BB |Z=| BB | B %= R EXNEXS

f5 CHEZSESRS

XN ENE N EF N E T EF A E T ERFIESES

300 -

i
ByWoFv @D46 02:11: ET=876 Fg=960.0 Ro=160.0

200

100 A

= 8000
L 3000
- 2000

- 1000

1.0

10 11 12 13 14

15 16 17 18 19 20 21 22 23

ES
5]

=
B

A %= EXNESS

0.8

XN ENE N EF N E T EF A E T ERIESS

0.6

0.4+

0.2~

0.0
1500 1

| _obs
PPFD_obs

60

40 ~

RH_obs
RHo obs

1.5 4

VPD

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



27.

27.

26.

26.

26.

26.

26.

27.

27.

27.

26.

26.

27

26

25 -

24 -

M_W

T
500

660 760 860
m=655,n FV0=0

T
900

—0—

M_W

655

GéO 6é5
m=905,n FV0=0

—0—

M_W

905

910 915

25.

25.

25.

24.

24.

24.

217.

217.

26.

26.

26.

26.

m=490, FV0=0

50

25 ~

00 -

75 A

50 -

25 A

—— MW

T
490

495 500
m=720,n FV0=0

25 4

00 -

75 A

50 A

25

00 -

—— MW

T
720

T
725 730

26.

26.

26.

26.

25.

25.

27.

27.

26.

26.

26.

26.

26.

m=525, FV0=0

—o—

M_W

525

550 555
m=790,n FV0=0

—o—

M_W

790

T
795 800

27.

26.

26.

26.

26.

217.

21.

26.

26.

26.

26.

26.

m=580, FV0=0

—— MW

T
580

5é5 5é0
m=870,n FV0=0

1T —e— mw

T
870

T
875 880




hour

110

125

125

:30

125

115

100

o
(]
I

80

- 60

- 40

B,
%
“
4
2
§_

%
%
@g@
N
Q%%

%

’%,\

o
-



P6AW

BFE) | GEBETK () | s (EAH/HR) | XS R

08:10 327 160.0 [Z=| 1BRiB@08:10 Bzh (KEEREE)
08:55 327 160.0 & =| 1Ri%e08:55 Bz (kPBIEREE)
10:10 327 160.0 (Z=| 1Big@10:10 Bzh (REEREE)
11:25 327 160.0 =l {Rige11:25 B3 (RAERSE)
12:25 327 160.0 = RiBe12:25 B (REAKEE)
13:30 327 160.0 =] Ri%e13:30 B (REA{EREE)
14:25 327 160.0 5| {Ri%014:25 B CGRAERSE)
15:15 327 160.0 = Rige15:15 B (REAERESE)
2it]2616.0 (8%) 1280.0 3Z3KEC: 2310.0, PH: 6.5

HATHRERA (0.95) , IS
FREAVERS STMETR (306.0 :

BRIASERRIERE160. 0 ml.

H#EIRECE (2540. 0 vs 3450.0) hs

160.0), FIREKRREERE




FRV (ml plant-1)

2400 -

2200

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P6AW_W, Day=42 (2025-05-17)

150 -

100 A

50 -

400 o

300 A

200 A

100

VI, VO ¥RV, ET = VI, VO, FVI, FVO, FRV, adjFRV, ET

1600
1400
267 2 ?1 2

107 Warning: lcol [FVI',| "FVO’'] missing 27

S — MW
FRV

- 3000

- 2000

- 1000

-0
4 30

1.0

0.8 A

0.6

0.4+

0.2~

Warning: lcol ["WC1',  "WC2'] missing

0.0

o o o ® ® 4o o o —¢  ECB*10%
® ECC

TargetEC=2600. 0,  TargetSetEC=2310.0

7.0 4 TargetPH=6.5, TargetSetPH=6.5 —%—  PHB*10%

6.5 fmmmmmm e e i

6.0 -
300 - Bylnit

200 -

100 A

J PHC

D46 02:11: ET=1831 Fg=2240.0 Ro=497.0

(-

o0

P .

(] L
: N

4 3000

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

3000

301 A (2= ||| B [ BF | 5 [ BB | BE | R [ME | 5 | ”e [HE | Hg [ RS [ HE | f5 [ ME | BE | R [ MR | S | A

200 -

100 A

ByEt @42 19:06: ET=1305 Fg=1280.0 Ro=nan

- 2000

- 1000

 —— ——{
0 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

3000

301 A |25 |22 |25 | BB | B (T[22 (2| M5 | B [ | B5 [ [ |5 [ | BE |5 [ | BF | B

200 -

100 A

I
ByWoFv @D46 02:11: ET=1112 Fg=1280.0 Ro=189.0

p oy ” ® @ ® @ ® ®

- 2000

- 1000

1.0

sl B B |27 27|87 % | % |27|87187152| % | % | % | m | & | % | m | @ | & @ |®|®

0.6

0.4+

0.2~

0.0

1500 { e

1000 ~

500 A

100

|
[ ] | _obs
—@— PPFD obs

RH
RH_obs
(] RHo_obs

1.5 y v% ® VP

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



26.5 -

26. 0

25.5

25.0 -

24.5

24.0

—O—

T T
500 600

760 860
m=690,n FV0=0

26. 25 A

26. 00

25.75 A

25. 50 A

25. 25 A

—— MW

T
690

695 700
m=920,n FV0=0

26. 6

26. 4

26. 2

26.0 -

25. 8

25.6

—o— MW

920

925 930

m=513, FV0=0

25. 25 A

25. 00 A

24.75 A

24.50 A

24. 25 A

24.00 A

—o—

M_w

T
515

5é0 5&5
m=750,n FV0=0

26. 6

26. 4 -

26. 2

26.0

25. 8 -

25.6

25. 4 -

—o—

M_W

T
750

T
755 760

26.

26.

25.

25.

25.

25.

26.

26.

26.

26.

25.

25.

m=560, FV0=0

——

M_W

T
560

5é5 5%0
m=805,n FV0=0

——

M_W

T
805

T
810 815

26.

26.

26.

25.

25.

25.

26.

26.

26.

26.

25.

25.

m=615, FV0=0

—o—

M_W

T
615

650 6é5
m=860,n FV0=0

—o—

M_W

T
860

T
865 870




